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Direction (Q. Nos.1 5) : Read the passaoe ahd answer the four cholces glven after eaul

question that follows:

Genetic variation is the comerstone of evolution, without which there can be no natural selection, and

S0 a low genetic diversity decreases the ability of a specles to survive and reproduce, explains lead

author Yoshan Moodley, Professor at the Department of Zooloay, Unlversity of Venda in South Affica.

TWo centuries ago, the black hinoceros which roamed much of sub-Saharan Africa - had 64 diferent

genetic lineages, but today only 20 of these lineages remain, says the paper. The species is now

restricted to five countries,South Africa, Namibia, Kenva. Zimbabwe and Tanzania. Genetically unique

populations that once existed in Nigeria, Cameroon. Chad. Eritrea, Ethiopia, Somalia, Mozambique,

Malawi and Angola have disappeared. The origins of the genetic erosion. coincided with coloníal rule

in Africa and the popularity of big game hunting. From the second half of the 20th century, however,

poaching for homs has dramatically depleted their population and genetic diversity, especially in

Kenya and Tanzania.

1.

2.

Sub - Saharan Africa has lost how

many black rhino genetic lineages in

200 years?

(B)

(C)

(D)

(B)

20

(C)

30

(D)

64

Genetic diversity is proportional to :

SECTION -1:General English Comprehension

44

A The ability of a species to

survive and reproduce

Extinction

Species population

Inbreeding

CET-B.Ed.-BI2025 (3)

3.

4.

What is important for evolution ?

(A)

(B)

{G)

(D)

(A)

(B)

Large population

Survival of the fittest

Genetically unique black rhinoceros

has been lost in all of the following

countries, except??

(D)

Genetic variation

Mixing of species

Nigeria

Malawi

(e Tanzania

Chad

P.T.O]



5.

6.

8.

9.

From the second half of the 20th14.
century what has caused a dramatic ite s

fallin black rhinocerOs population ?

10.

(A)

(B)

{e)

(D)

(A)

(B)

The synonym of 'Mammoth' is :

(C)

(A)

(B)

7. Hein this college for five years.

()
{D)

(D) Huge

(B)

(D)

(A)

Colonial rule

(B)

Fllin geneticdiversityth
Poaching

(C)

Big game hunting

Greedy

The plan will be sanctioned
fortnight.

A)

Straight

(A) in

(C)

Wild

(D)

teachesag*

has been teaching

isteachingter eoii ticT 13.
taught

within

by

since

have not yet again

(D) am notgiving

do not yet given

The bird flew

did not yet give

.across

Over

beside

behind

CET-B.Ed.-B/2025

a

up hope.

a4

my head.

er

12.

(4)

14.

15.

Use mask as a precauton

Corona virus.

(A)

4B)

(D) to

Choose the word opposite in meaning

totheunderlined word:

His gloquent speech helped him bag

(B)

the award.

(C)

(A) Lucid

(D}

A)
(B)

(C)

(D)

for

Choose the one which can be
substituted for the given sentence

against

The murder ofbrother.

(A)

from

(B)

(D)

(A)

(B)

Vivid

(C)

Short

(D)

Inarticulate

Find the correctly spelt word :

Homicide

Regicide

Fratricide

(G Gynecology

Suicide

ynaecology

His indolence is a great drawback

Gyncology

Gyneacology

for

in

his success.

about

to



16.

17.

18.

20.

A)
(B)

(C)

(D)

(A)

8)
(C)

(D)

(A)

(B

(C)

(D)

(A) 3

(B)

(C)

{D)

(A)

(B)

(C)

:

(D)

Section- Il: General Hindl/ ug -ll : rAA f GI)

+ fo
: + 47

CET-B.Ed,-BI2025

+ 497

frenfaeguT

(5)

21.

22.

24.

(A)

25.

(C)

(D)

(B)

(e)

(D)

23.
H YG:

(A)

(B)

(C)

D)

(B

?

(D)

atG

(A) 5

(B)

frenfra

(C)

311RTH

(C) 15

11

33

(D) qYId

P.T.0]



26.

(A)

(B)

(D)

CET-B.Ed.-BI2025 (6)

27.

(A)

B)

(D)

frerI



28.

pUT (A):

IRU (R):

(A)

(B)

(C)

(D)

IRUT (R) HSI

ht (A) TeT RUT (R)

Fet A) HST if

CET-B.Ed.-B/2025

(R)

(7)

30.

(A)

(B)

(C)

(D)

)

(i)

(A)

{8}

(C)

(D)

T (i)

() 3Ìr (i)

P.rOJ



31.

33.

34.

In the following question,select the odd

number fromthe given alternatives:

A) 1136

(B)

() 1719

(D)

32. Complete the analogy :

(A)

(B)

NOMADS: LQKCBU:: GRAPES:.

(C)

4D)

(A)

B)
(C)

(D)

5207

(A)

2608

Ris father of J. Q is the daughter of P.

Ris the son of S. J is the daughter of K.

Pis the wife of S. How is P related to K?

(B)

(C)

4D)

ETYRUC

ETRCYU

ETRYCU

ETYRCU

Section |l : Loglcal & Analytical Reasoning

Brother's wife

Which of the following letter-clusters will

replace the question mark (?) in the

given series?

Husband's mother

Wife's father

Father's sister

LAT,NDR, PGP, ?, TML

SKO

RKN

SJO

RJN

CET-B.Ed.-BI2025

31.

32.

33.

34.

(8)

(A)

(B)

(C)

(A)

(D) 2608

(B)

NOMADS: LQKCBU:: GRAPES:

(D)

1136

(B)

5207

(C) ETRYCU

1719

(A)

(B)

R, J T fT

(C)

ETYRUC

S oT yA.ŽI J,K

yîTIP,K

(D)

ETRCYU

(C) ftar

ETYRCU

LAT, NDR,PGP, ?, TML

SKO

RKN

SJO

Q,Pâ ytR,
yi I P, S t
ifaT ?

RJN



35.

36.

37.

Four letters - clusters have been given 35.

out of which three are alike in same

manner and one is different. Select the

one that is different:

(A)

(B)

(C)

D)

SQO

If 28 February 2017 was Tuesday, then

YWU

what was the day of the week on 28

February 2019?

MKI

A) Thursday

GED

(B) Saturday

(C) Friday

(D) Monday

(A)

If youwrite down all the numbers from
1

(B)

to 100, then how many times do you

(C)

write 1?

D)

11 times

20 times

10 times

21 times

CET-B.Ed.-BI2025

36.

37.

(9)

(A)

(B)

(C) MKI

(D) GED

yfa 28 prgt 2017 Ì TTAR T

Git 28 þrgt 2019 T

h-1 fT ?

e (B)

YWU

(D) qrR

ferrdt ?

(A)

(B)

(C)

(D)

11 IR

20 Ir

10 IR

21 IR

P.T.OJ



38.

39.

40.

41.

In a certain code language 'ROMAN' is

written as 'ILNZM, How will 'FRANCE

be wriften in that code language ?

4A)

(B)

(C)

(D)' VIZMUX

(A)

If5@2 25 and9@4#6=6, then

4B)

7@84 =?

(C)

(D)

UIZMXV

UZMVX

XIZMVC

10

If the rank of Reena in group of 48

candidates is 11th from the top, then

what will be rank of Reena from the

(A)

8

bottom ?

48)

16

(A) 47

(C)

14

(B) 49

(D)

(C) 45

D) 38

Which of the following letter will come in

place of question mark ?

A

B

C

CET-B.Ed.-B/2025

J,N, Q, U, X,?

38.

39.

40.

41.

(10)

FRANCE N fergt IT ?

(A)

(B) UIZMVX

(C) XIZMVC

(D)

(A)

Yt¢5@2 #2=53N 9 4 #6=68.

(B)

(C)

(D)

(A)

UZMXVs

(D)

VIZMUX

(B)

10

(C)

8

16

(B)
.

49

14

(C) 45

47

(A) A

38

B

C

(D) Z

J, N, Q,U, X,?



42.

43.

44.

Study the given pattern carefully and

select the number that can replace the

question mark (?) in it:

(A)

(B)

(C)

(C)

(D)

{A) 127

23

(B) 128

(A)

13

(B)

17

21

(D)

16

Select the number that can come in

place of the question mark (?) in the

following series :

138

212

7
3

(C) 19

4

Select the option that best suits the

place of question mark (?) in the figure:

25

5

CET-B.Ed.-B/2025

7

10

13 13

19?

3,7, 15,31,63,?

42.

43.

44.

(11)

(A)

(B)

(C)

(D)

(A)

(B)

(A)

(B)

(C)

23

(D)

13

17

(C) 138

(D). 212

21

127

128

16

7

3

19

25

4 10 9

13 3 13

3, 7, 15, 31, 63,?

?

P.T.01



45. Find the number of squares in the given

46.

47.

8.

figure:

(A)

(B)

(D)

(C) 32

(A)

(B)

If32x5=25 and 19x4=40, then 54x3=?

(C)

(D)

(A)

(B)

(C)

20

25

(A)

36

Find mean:

(B)

33

(D)

34

27

29

5

In the following question, select the odd

7

from the given alternatives :

1,2, 3, 6, 1,4,5, 38

Hand

Nose

(C) Heart

Eye

CET-B.Ed.-B/2025

45.

46.

47.

48.

(12)

(A)

B)
(C)

(D)

(A)

(B)

(C)

qf 32x5=25 3tr 19x4=40 t, 54x3=?

(D)

(C)

(D)

(A)

20

(B)

25

{6)

32

(D)

36

4A} 4

(B) 5

33

34

27

29

6

7

f

1,2,3, 6,1, 4, 5, 38



Which of the following group of words is

52

completely different ?

(A)

(B) PQK

(C) STH

D)

If the average of 7 consecütive number

(A)

is 20 then what is the largest number

among these number?

(B)

(C)

TUG

(A)

(B)

(D)

RST

51., Complete this series:8, 15, 28, 53,...

(A)

23

(B)

24

48

14

98

100

102

In a certain code language 'MONEY is

coded as 72' and 'BILL'is coded as "35.

How wilI TOKEN be coded in that

106

Ylage ?

75

70

fe -65
60

CET-B.Ed.-BI2025

49.

50.

51.

52.

(13)

(A)

(B)

(C)

(D)

7afrs I T ÌHGT 20 3 t

AISY ?

TUG

(A) 23

POK

(B) 24

(A)

STH

(C). 48

(B)

RST

(D) 14

(C)

8, 15, 28, 53,
.... jaiT oT YRT |

(D)

(B)

(D)

98

100

102

(A) 75

106

70

(C) 65

60

P.I.0]



53.

54.

55.

If all the A ara dropped from the given

arrangement, which of the following

option will be eleventh from the left In the

given arangement ?

(A) U

(B) E

{G)

CUBAEDEDABEBAUCDBCADB

(D) D

of:

IfP denoted , Q denoted ×, R denoted

+,S denoted, then what is the value

(A)

(D)

45 Q'30 P 10 R 12 S 15?

132

(B) 160

(C)
.

202

DUBCACBEDA

60

IfA:B= 11:7 andB:C=5:19, then

What is the value of A:B:C?

(A) 55:35: 133

(B) 35:55: 133

(C) 35: 133:55

(D) 55:133:35

CET-B.Ed.-B/2025

55.

rrNgit rT ?

(14)

(A) U

(B) E

(C)

54, yf PT Aef +, Q ef x, R

(D) D

(A)

CUBAEDEDABEBAUCDBCADB

DUBCACBEDA

(B)

(D)

C

(B)

45 Q30 P 10R 12 S 15?

(C) 202

(C)

132

160

yf A: B=11:73rB:C=5:19 , t

60

(A) 55:35:133

35:55: 133

35: 133 :55

(D) 55:133:35



56.

59.

The 'fundamental ights' in the Indian

Constitution have been taken from the
constitution of which country ?

(A)

(B)

(C

(A)

(B)

57 first which ruler made ancient India a

(C)

integrated nation ?

Sectlon - IV: General Awareness/ug-IV: HIHIY HI4A

(B)

Ireland

(C)

Britain

(D)

Germany

United States of America

(D) Chandragupta Vikramaditya

(A)

Who founded the Satyashodhak

(B)

Samaj?

Akbar

(A) Rajaram Mohan Roy

(D)

Chandragupta Maurya

Ghananand

lshwar Chandra Vidyasagar

The ancestor of astronaut Sunita

Wiliams belongs to which state of India?

Mahatma Jyotiba Phule

Gopal Krishna Gokhale

Tamil Nadu

Kerala

(C) Odisha

Gujarat

CET-B.Ed,-B/2025

56.

57.

58.

59.

(15)

(A) Trds
(B)

(C) Grff

(A) '* 3hqR

(B)

(C)

(D) IT fasnHTf¢I

(A)

(B)

(C)

(A) afreg
(B)

(C) sI
(D)

(PT.O4



X 60. Who declared East Pakistan as an

independentrepublic 'Bangladesh?

(A) Indira Gandhl

(B)

(C)

(D)

Sheikh Mujibur Rahman

61 When did Gandhiji started

Sheikh Khalida Jlya

disobedience movement ?

Kazi Nazrul Islam

(A) 1921

(B) 1935

(C) 1930

(D) 1942

The green planet in the solar system is :

(A) Mars

(B) Uranus

(C) Venus

(D) Earth

(A)

(B)

K63. The largest public sector undertaking in

the country is:

(D)

Petroleum

Aiways

(C) Railways

civill

Roadways

CET-B.Ed.-BI2025

60.

61.

62.

63.

(16)

tfar freTI ?

(B)

(C) rg utfeet fort

(A) 1921

(B) 1935

(C) 1930

(D) 1942

(A)

(B) TH
(C)

(D)

yotgtert

Gyh4 HT ?

(B) rgrÍ

(C) r
(D)



64
Which planet is known as the Blue

65

Planet ?

67.

(A)

(B)

(D)

(C) Jupiter

(A)

inwhich year did Gandhiji undertake the

(B)

DandiMarch ?

(C)

(D)

the?

(A)

Venus

Earth

(C)

(D)

Saturn

AS6. Indian Constitution does not approve

(B)

1922

1927

(D)

1930

(B) Secularism

1932

Democracy

Sovereign

The longest continent in area is:

Tyranny

(A) Africa

Asia

(C) Europe

North America

CET-B.Ed.-BI2025

64.

67.

(17)

pl- ug T TE (Blue Planet)

(A)

(B) et
(C)' qEft
(D) f

(A)

(B).

(C) 1930

(A)

(D) 1932

(B)

1922

(C)

1927

(D) rgrTT

(A) 3196cOT

(D)

(B) AI

[P.T.0]



Which is the deepest ocean ?

(A)

(B)

(C)

(D)

(A)

(B)

69, Who is the known as the father of

(C)

Computer?

(D)

(A)

(B)

(C)

(D)

Pacific Ocean

Indian Ocean

Atlantic Ocean

Which Article of the Indian Constitution

(A)

Arctic Ocean

deals with Right to Equality' ?

(B)

(C)

(D)

John Thomas

Zuckerberg

Charles Babbage

None of the above

Article 14

71. Which vitamin is known as the

Article 19

"Sunshine Vitamin'?

Article 21

Article 32

Vitamin A

Vitamin B12

Vitamin C

Vitamin D

CET-B.Ed.-BI2025

68.

69.

70.

71.

(18)

(A)

(B)

(C) ifts HSTAITK

(D)

GTII ?

(A)

(B) eqt
(C)

(D)

(A)

(B).

(C)

(D)

(A)

(C)

3gaE 14

(D)

Hgo« 19

4gdE 21

(B) fet B12s

faetft A

fIf C

faefAT D



72.
Fullform of W.T.O. s:

(A)

(B)

(D)

(C) World Telematics Organisation

(B)

What is the number of Earth Satellites?

(C)

(A) 0

(D)

World Life Therapeutic Organism

(A)

World Trade Organisation

(B)

(C)

None o these

(D)

What is the minimum age limit to be

elected as the President of India ?

1

(B)

2

8

25 years

30years

35 years

40 years

Which planet is known as the 'Red

Plane ?

(A) Mars

Mercury

(C) Venus

(D) Saturn

CET-B.Ed,-B/2025

72.

73.

74.

75.

(19)

(A)

(B)

(C)

(D)

(A)

(B)

(C)

(D)

(A)

(B)

(C)

(D)

(B)

1

(C)

2

8

25 qf

30 q

35 q

(A) TT

40 q

(D) f

P.T.OJ



78.

The mid day meal scheme was

79.

launched on:

(A) August 15,2001

(B)

(C)

(D)

M. Wich of the following is lightest metal ?

(B)

(C)

(A) Copper

(D)

August 15, 1992

August 15, 1995

August 15, 2002

Silver

Which was the early capitalof Magadh?

Lithium

(A) Rajgriha

(A)

Gold

(B) Nalanda

(B)

(C) Ara

(D) Patliputra

(D)

Who was the chairman of the 'drafting

commitee' of theconstituent assembly?

Jawaharlal Nehru

Dr. Rajendra Prasad

(C) Sardar Vallabhbhai Patel

Dr. Bhimrao Ambedkar

CET-B.Ed.-B/2025

76.

77.

78.

79.

(20)

(A)

(B)

(C)

(D)

(A)

(B

ef?

(A)

?

(B)

(C) fefgH

15 314|I, 2001

(D) T

15 44I, 1992

15 3T[T, 1995

A)

15 344T, 2002

(C) 3IINT

(C)

(D) refyA

3ART T ?

(B) SÍo IK HIG



80.

(A) Literacy rate

Quality ofa population depends.upon:

(B)

(C)

(D) Health of à person

81. Who cOined the phrase Unity in

(B)

Iliteracy

Diversity' ?

Skill formation

D)

(C) Jawaharlal Nehru

Shaheed Bhagat Singh

Mahatma Gandhi

82. When was the first general election held

Sardar Vallabhbhai Patel

in India?

(A)

(A) 1947

B) 1948

(C) 1950

(D)

(D) 1951

B3Unequality in India is due to:

Caste and gender

(B) People's religion

(C) Dignity

Monetary status

CET-B.Ed.-BI2025

80.

81.

82:

83.

(21)

(A)

(B)

(C)

(D)

(B)

(C)

prt ?

(D)

(A)

(B)

(C)

(D)

(A)

(B)

(D)

frRTVGTI

tt frfur

1947

1948

1950

1951

(C) sfa

P.T.O]



84.

A5.

86.

87.

Which of the following is a worldwide

system of computer networks ?

(A)

(B) Webpage

(D) Welbsite

(A)

What is the full form of UPI ?

(B)

Intranet

(C)

(D)

Internet

Unified Payments Interface

Universal Payments Integration

Unifed Processing Interface

Universal Processing Integration

Under what -name did Space X

successfully test its new spacecraft ?

(A) Starlink

(B) Starship

(C). Falcon Heavy

(D) Dragon

(D)

The concept of Public Interest Litigation

(PIL) in India is inspired from which

cOuntry ?

(A) America

(B) Britain

(C) France

Germany

CET-B.Ed.-B/2025

84.

85.

86.

87.

(22)

(4) rte
(B)

(C)

(D)

(D) faÍeT
T SEÀTT

Space X foH H

À 4

(A)

(B)

(C) cot t

(D)

(A)

at

(B)

(C)

(D)



89.

Who was the first person to climb the
mount Everest ?

(A)

(B)

(C)

(A)

(B)

(D) Edmund Hillary

(C)

India ?

(A)

Ronald

Neil Armstrong

(C)

Magellan

D) Daman

an Nho was the first woman president of

Silvassa

(A)

Thiruvananthapuram

Chennai

is the capital of Kerala.

(B) Droupadi Murmu

(D)

Pratibha Patil

(D) None of the above

Indira Gandhi

91.Konark Sun Temple is located in which

of the following states?5N
Gujarat

(B) Utar Pradesh

(C) Odisha

Andhra Pradesh
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88.

89.

90.

91.

(23)

(B) tt 3rfrgirt
(C)

(D) ss ft

(A)

(B)

(C) É

(D)

ef?

(A)

(B)

(D)

(A)

(B)

(C)

fvgiage

(D)

yfrT yfeoi

(P.T.0.



92. Gyanpith Award is related to which

93.

field?

95.

(A)

(B)

(C)

(D)

(A)

(B)

(C)

Author of the National Song of India is :

(A)

(B)

(C))

(D) Sarojini Naidu

94, International

(D)

Literature

History

celebrated on:

(A)

Drama

(B)

Dance

(C)

(D)

Rabindranath Tagore

Bankimchandra Chatterjee

Sir Muhammad lgbal

5 March

8 March

Author of'Malgudi Days' is

10 July:

Women's

12 August,

Mulkraj Anand

R.K. Narayan

R.K. Laxmanie
Mukul Keshwan
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92.

93.

94.

95.

(24)

(A)

(B)

(C)

(D) Je

(A)

(B)

(C)

(A)

(B)

?

(A)

(C) 10 ye

(B)

5 H

(D) 12 3|*GT

8 H14

(D)

(C) TR,$. TAHUT



Who said that 'School is a miniature

sociely' ?

(A) Rousseau

(B) John Dewey

(C) Tagore

(D) Montessori

97. Ateacher should do it: p

(A)

(B)

p)

Section-V:Teaching-Learning Environment In Schools

(C) Enhancing your

(B)

Strerngthening your subject

Enhancing teaching skill

98 What type of education is being

promoted at present ?

(A) Child centered

understanding

(A)

Allthe above

(B)

(C) Curriculunm centered

(C)

(D) Guardian centered

(D)

Teacher centered

What kinds of things should be there in

children's classroom?

students'

According to the appropriate size

of the children

According to the school

As per availability in the market
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According to the principal

96.

(25)

98.

99,

(A)

(B) G tt
(C)

(D) u

(A)

(B)

(D) 4g#

(A)

(B)

(C) YTdUAH ofT

(A)

(B)

.tT GT VST ?

(C)

P.T.O.]



There should be relationship between100. fRrerca y

teacher and students:

(A)

(B)

(C)

(D)

(A)

(B)

(C)

(D)

101. What kind of atitude should a teacher

have towards students ?

(A)

B)

(C)

(D)

To

(A)

create

(B)

classroom environment

(C)

To provide tuition to students

(D)

To establish relationship

between parent and student

None of these

102. There is interaction between teacher

and students :

Responsibility

Sense of sensitivity

Sense of positivity

All of the above

From the rich knowledge of

teacher

103 Itis a type of discipline :

harmonious

Teacher being friend of students

The teacher being a guide.

All of the.above

Impressionistic

Emancipationistic

Repressionistic

All of the above
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(A) pTT

(26)

(B)

(C)

(A)

(C)

(D) ugs

(A)

(B)

(C)

103. 4IHT OT YOTR :

(A)

(B)

(C) HIHE



104 The aims of
education should be:

(A)

(C)

(B) Preparing

(p)

(B)

(C

105. Anobjective of learning should be:

(A)

A) Behaviour changes

(B)

(C)

(D)

To prepare students for practlcal
life

(D), Both (A)and (B)

(A)

examinations

106, The first step oflearningis:

(B)

(C)

Preparing students for jobs

Toimport knowledge of subjects
to the students

Adjustment

None of these

(C)

(D)

Curiosity

write first?

Intelligence

107 Who said that, children should learn to

Hard work

Concentration

Montessori

students

Tagore

(D) Giju Bhai

Herbert Spencer

(A) Regular

108. Ateacher should check the home work:

(B) Never

for

At the request of the guardjan

In a weak
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104. fRTGTT FT GGtY BT IfY
:

(A) faerfeft aqgiras igr

(27)

(B) fefetet at rer fo tur

(C) fafeet fry turr

(A)

(B)

(D) (A)yd (B)

(A)

(B), gfa
(C)

(D)

107. fT pBI f, qat HCye

(A)

(B)

(C)

(D)

(A)

(B)

foIIHT

(C)

(D)

PT.O)



109, How can a teacher enhance children's

learning in the classroom ?

(A) By competitlon

(B)

(C)

(D) By hard work

(A)

110.Ghitd centered lessons take chlldren

(B)

forward :

(C)

(D)

(B)

By tralning

(C)

By relaling the subject matter to

(D)

students' lives

11. Who among the following is a child

educationist ?

(A)

(A) Giju Bhai Badheka

(B)

Excessive action

(C)

Complete development

(D)

Development of civic qualities

None of these

112/There is a benefit in changing the seats

Vivekanianda i

of students in the classroom :

Gandhi

Jawaharlal Nehru

The child does not feel inferior in

the class

New students are welcomed

It promotes interaction among

children

None of these
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109.

(28)

(A)

(B)

(D) ETT ERT

(A)

(B

(B)

(C) e
(D)

(A)

(D) 1



113.According toTagore, In which language
should be children be educated?
(A)

(B)

(C) Hindi

(D) English

(A)

114. RoUSseau was a supporter of :

(B

(C)

(A)

(B)

Mother tongue

(D The state discipline

(C)

Bengali

175. AcCording to John Dewey, children have

(D)

interests:

(A)

The child's freedom

(B)

Discipline

(C)

Divine discipline

(D)

Interest in talking

116. What measures can be taken to

Interest in creating

eliminate indiscipline among children ?

Interest in artisticexpression

All of the above

Personal Contact between

teachers and students

The school environment should

be made moral and cordial

Children should be given

appropriate punishment in school

Both (A) and (B)
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(A)

(B)

(C)

(D)

(A)

(B)

(C)

(D)

(A)

(B)

(C)

(D)

(A)

(C)

fRre tf :

(D)

atrett

fy RAT GYY HOT ?

(A) 3TR (B) t
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117, Agood teacher:

(A) Establishes communlcatlon with

(B)

(C)

(D)

(B)

118. Must bein primary teacher:

(D)

(A) Patience

students

Inspires to read from the books

(C) (A) and (B) both

Emphasis on rote learning

(C)

None of these

(D)

119. The right way to bring discipline in

students is:

Love

(A) ldeal behaviour ofa teacher

(B)

(B)' Harsh behaviour of the teacher

(C)

Strict discipline

(D)

Dialogue between students and

120. What is teaching?

teachers

(A) An art

Both (A) and (C)

A skill

(A) and (B) both

Management
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117. va5 43T NTCF:

(A)

(B)

(30 )

(C)

118. HrefsfRTE BT ZIfay :

(B)

(C)

(D)

(B) fTA# T hoR R

(C)

(D)

120. fTGUT TT ?

(B)

(A) vd (B)

(C)

(D)

(A) yd (c) t

(A) Ye (B)


